Unit 5 Curve Sketching | REVIEW
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What are the x-coordinate(s) of the points of inflection for the graph of f(x) = sin®x on the closed interval
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The function defined by g(x) = 4x3 — 3x? for all values of x has a refative maximum at x =
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The graph of the derivative of function f'is shown below. At what value of x does function fhave a relative
maximum?
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The function g is defined by the equation g(x) = 6x° — 10x3. Determine the values of x for which the
graph of function g is concaved upwards. v . 5
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6. The graph shown below shows the derivative f' of the function f. At what value(s) of x does function £

have a point of inflection?
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7. An equation of the line tangent to the graph of f(x) = 2x® — 3x? at its point of inflection is
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9, The graph of the derivative of function fis shown below. Where on the interval [—2, 3] is function f
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13. The graph of y = f(x) is shown below. If fis twice-differentiable, which of the following is true?
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